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CHAPTER 4 REVIEW

1.
Find the restricted values of "x” for the rational expressions. If there are any vertical, and/or horizontal, or oblique

asymptotes find them, if not state “none”.
2
x +x+1
-

Sx ix

Vertical (x) Horizontal (y) Oblique (y)

2.
Use polynomial long division to rewrite the following fraction in the form g(z) + ;';-'7‘;—: , where d(z) is
the denominator of the original fraction, g(x) is the quotient, and r(x) is the remainder.

w3+ dx? — 21x — 13
x—4

3.

Use synthetic division or long division to determine if the given value for k is a zero of this polynomial.
It not, determine p(k). Is k& a zero of this polynomial?

p(z) =3z* — 192 — 62° + 142z — 60;k =5

4.

Construct a polynomial function with the stated properties. Reduce all fractions to lowest terms.
Second-degree, with zeros of -4 and 3, and goes to —oc as ¥ — —oc.
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5.
Consider the following function.

fix)= 5

x — 4

Step 1 Identify the formula for the more basic function that has been shifted, reflected.

stretched, or compressed to obtain g(x).

2 VR =] 3 <] v

Sh;p 2. Indicate the shape of the function that was found in step 1.

A -
%L RN W*ﬂ i

Step 3. Graph this function by mdicating how the basic function found 1n step 1 has been shified, reflected, stretched, or
compressed

Horizontal Shift A) Left | B) Right (IZ} None I(A'T

Stretch/Compress A) Stretch B) Compress C) None

5
x-Axis Reflection A) Yes B) No -
y-Axis Reflection A) Yes B) No
2 %
Vertical Shaft A) Up B) Down C) None —‘10 =5 5 18
15

Step 4. Determine the domain and range of this function. Write yvour answer in interval notation or symbol notation.
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6.
Given the following rational function:

—1422 4+ 27z -9
Jiz) = Tr—3

Step 1. Find equations for the vertical asymptotes, if any, for the rational function.
Step 2. Find equations for the horizontal or oblique asymptotes, if any, for the rational function.

Step 3. Find the domain of the rational function.

7.
Match the polynomial function z(z) = (z — 1)(x + 2)(3 — z), by determining the z-intercepts, the
y-intercept, and the behavior as r — £o0 from one of the graphs labeled below.

Identify:
Basic Function of end behavior

r v 2 2]

b=

x-intercepts =
y-intercept =
degree of function =

total turning points =

Select the graph below which corresponds to the function.

-1z

-1z U Y -12
. ]
-4 e _36 =24
-8 4 0 4 3

5 -4 0 4 E -8 4 0 4 8 2 -4 a0 4 Z

(a) (b) () (d)

T 3 | 1z 24 \ |'r
12 2 i | 12 /
1z "| I a —\*3’—




